KENDRIYA VIDYALAYA SANGATHAN
'MODEL QUESTION PAPER - 3 FOR PRACTICE
[MARCH 2018

Class: X - . j : Time: 3Hours
Subject: Mathematics . " Marks: 80
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General Instructions

4. Alf questions are compulsory.

5. The question paper consists of 4 sectlons A B, Cand D.
Section A contains 6questions of 1 mark each.
Section B contains 6questions of 2 marks each.
Section C contains 10 questions of 3 marks each.
Section D consists of 8questions of 4 marks each.

Use of calculator is not permitted

6. 15 minutes time has been allotted for reading this question paper.
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Section A

| ~ The decimal expansion of Rational number ——— ‘will terminate after how many decimal places?

; 9_ Find the value of Sec 8, If Sin e.=%

3 Out of 50 bulbsin a box 10 are defectlve .One bulb is taken out at random from the box. What is
the probablhty that the bulb drawn'is not defective? ]

Y I DE is parallelto‘BC and AD =1.5 cm &

B S L l‘?t.mflcn
AE=1cm.BD =3cm. o Sy B E,
Then fmd the length ofEC R ‘ :’3‘cm’_”,_,:ff ; 'g i

B (::;;_Wu_m_“,__;: C

5 ijnd i< distance between‘ thep‘eint_s‘r(4, 2)&(1,0)’ :
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nute hand of a clo';k is 14 cm. Find the area swept by the minute hand in 5

§g_ct_"1ﬂ_5

Fing ‘
the H.C.F. of 960 and 432 using Euclid’s division lemma. . ’ E

Thera
dn of two crrcles are 12 cm and Scm respectively. Find the radius of the dircle havmg ke
equal to the sunt of the aréas of the two circles.

ABCDis a traPeznum with AB l | DC.E and Fare points on non- -parallel sides AD and BC respectlvely

such that EFis parallel to AB Show that Y
’ EL

\ If the pOln’fS A(6,1),8 (8 2),C(9,q)and D (p, 3) are the vertices of a parallelogram taken in

order. Fmd the value ofp Qo o : -

-_.lftan(A-T-B): Jg and tan (A- B)‘ :/1___ ‘0-<A+B <90°, A>B, Find Aand B.
' 3

The following table is the cumulative frequency distribution table .Find the median class.

| Age in years ~ [Below20 |Below25 = |Below30 | Below3s Below40
Number of p_élicy holders 2 6 |14 4 25

Prove that -\,/5 isirrational.

Solve for x
1 S
f*\—l.:fx-ﬂ}l !' ';—23[%—-3}

=§ wherex *1,x%F2,Xx%* 3

Find the sum of ﬁrst 24 terms ofjhe list of numbers whose n' tgrm is given by a1, =3 +2n

Evaluate ~ * " mpe
2sin 68° Zcot15° 3tan45°tan20°tan40°tan50°tan70° S
cosZ2° g 5tan75°‘“' F 5 T

Water in a canal, 6m wide and 1. 5m deep is flowing w1th a speed of 10km/h .How much area will
it irrigate |n-30~mlnutesl,|f 8 cm.of standing water is needed.

Prove the id entity
cos A-sin A+1
cosA+sin4—1

=cosec A+ cot A

An aero plane flying horizontally 1000+/3 m above the grourld is observed at an angle of

2.
_ elevatjon 60° from a point on the ground after 10 seconds, the angle of elevation at the point of b
observation .changes to 30°.Find the speed of the planein m/s.
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S : :
N Find other zeroes of 2x* +7 x>-19 X 2 _14%30

( \l’ /
- ' _5) collinear?
50 For what value of k are the points (8, 1), (3 -2k) and (&, 5) co
rev2 and -vZ.

if other two zeroes @
_1 .« v4 = =4
.i22 _ Solve graphically and find the value of xandy :- x¥3y=6andx+ y

Sectlon D

——

ide of a tnangle intersecting th

23  Prove that i aline is drawn parallel to one si & (—J_ther 'J_CW? S‘Elesat
distinct points then it divides the other two sides in the same ratio N ;{.APB=X

24 Two tangents: PA and PB are from an external point P to a c1rcle with center O, S_l_lch tha :

and £AOB =y .Prove that opposite angles are supplementary. - : e

25 A bag contalns cards numbered from 1 to 49 and mixed thoroughly From that qn‘?'ca:@ ivs taken
out at random. What s the. probablhty card drawn out |s ! .
)" Multipleofs
(il)ff Even nnmher
F oy e e (i) A perfect'square number
R . (iv) An even. prlme number _
e. Construct tangents to the o .

26 Drawa cnrcle of radlus 6 cm Take a point P 10 cm. Away from the centr

" circle. How many such tangents are p055|ble? Measure the length of each tangent
27 Atrain travel 360 km ata uniform speed Ifthe speed had been 5 km/h more, it would have taken
1 hour less for the same Journey Flnd the speed of the train.

28 Drawa less than ogive and more than oglve in the same graph and hence find the mediah o

“Scores—|20-30__| 30:40. 4050~ 50-60 [ 6070 [70-80 _ \
frequency | 8 10 0 fa 124 e 2 \ , el -
a trust workmgfor education of children and women in sorie \nllage lf

29 A person donates money to

a person donates Rs 50001n the first year and his donation increases by Rs 250 every year. Find the

total amount donated in eight years. Also wrlte the value the person mentioned here possess. _

30 Abucket madeup ofa metal sheet Isd ln the formofa frustum of a cone of height 16 cm with radii
r circular ends are ‘8cm and 20 cm respectively. Find the cost of metal sheet

0cm? (Take ==3.14)

of its lower and uppe

used to-make the contalner, ifit costRs 8 per 10




